20050000 000000 0ndndlb4--1860 PDFO O O O
Jodododooododo
https://www.100test.com/kao_ti2020/126/2021 2022 2005 E5 B9
B409 E6 c89 126748.htm 1540 0000 0OOOO OO O OO
Do oo ooooooououooooo d
D00 00000 >0159.155.PQRUODOOO,00000
00O 0?1) PQ=42) PQRO equilateral O [ equilaterald [ [ (eg:
equilateral triangle O O 0O 0O )0 170.156. 0 O O O 0O O O 11/x
XIXN2XN2UXNIxN3/MXM=200000000,000000.
157.272-1/272=7 11 [ : 15/4 158. X,y,z,w, X Is 20% greater than y, y
IS 20% greater than z, w is 20% less than x, how much percent greater
thanzisw? [0 0O :15.2% 0O O : X=1,Y=5/6,Z2=25/36, W=0.8,
(W-2)/Z2=152%159. 0 0 0 0000 00O O 0O O 5800km [
037000 0 000000 DO :4200pai O O : R=2100, Soll
O=4200PaiJ 00O OMN160. 00000000 O0OO0OONO
Jodododododououodx2xOyo dyo d O
DO000000000 000 X2x2x2x 3x=54000 [ xJ 54
[03x0162,y=180-3x=18 0 0 0 00 0O00O,000 161. O
(180001 O loveseat 300 O U O OO (1)U OO OO OO O 3800
QUUoUoooog . Anss0@QUuUuoUuoloo4odo
OcOUOdle2 0000000000000 O0O0OOOO
Jdodododogsouooooooon ()ydisdd
Jodovec0. U0 ooo3dnodno . od:pod:
On0O0OO=800(n-1)x, ()L UOOOOx163. 000600
JodododododotddU aton 03000000
OO0001%. 020000100000 . 00A00:00@),1



r%)3 -1=16%, 0 00 /0 O =(1r%)6=1.162, 0 O O O /O

0 =1/1.162164.nH abc,0 0 O x*y*z,abcO O O O O Ha(l) a
Os500001.2)xus500001.00 D(@abe=bm123,
050 0001 (2)xyz=bm 1*2*3,00 50 0O O O 1165. 0 O 0O O xO
Do00doooooood xgz2.yd3dd CAns:y=30 00
Do0o0doo,00016.s0000000t000MO20% O
D000t ooo2%,0000s0t000,0s00000
OO00000d?Ans: 1:6 0 128. U O O hyacinthgian 0 [ O :
http://forum.chasedream.com/dispbbs.asp?boardID=22amp.page=
000000000in0000000O00OO00,000
Oo0.167.00000,a000 bOOO cOOO .aldbdO
OO0 cO00D00O00O00 O0O:180168. xy-z=z, (x-y)d O O
Do00000 1L.xd000.2y=0.00:A000J1330

0 GWD-12-151Isxyz=zisix-yI>0?x-yd 0D 0 OO0 00040 >0
7(D)xz 0(2)y=0[A]169.is XY >x/Y?1) X0 .Ans: E 170. PQR
Do0000,000000007?21)PQ=4.2)PQR0 equilateral
ans:B100Test U OO0 OO O0OOO0OOOOOOOOOO
O 0O O www.100test.com



